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15,0453 54| 23 x202 4,514
—RE5d(35Y)*E
80,2403 38 162 3,852




2A:

HSAE2 0

Hu: MBS SA
Chel: HEHEHSAE2SE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—=8le= 89,218,000& 4. 5% 4,015
—dAEE 89,218,000& *3.545% 3,163
—1I=2E 89,218,000 *1.75% 1,562
—AHES 89,218,000 +0.966% 862
—ILEE 2,710,500 *12.95% 352
—EX= 2,000,000& *3E*12] 6,000
—CtE &I 80,2402 x3H 5 1,204
201 et 3| 499,240 564,850 65,610
01 At 22|l 39,940 43,750 23,810
OSEzd 2L ARE 7
450,000 <22 900
Ol Z2d |2l 4
600,000& 122 7,200
OstEa AE o HASE 7Y
300,000 *23] 600
OYURZZZ P8t NREE 72
200,000 #32] 600
OSAPI Xtz 250,000 122 3,000
OSAEA € Zgld A28 7Y
300,000 *23] 600
OZ2I 2% 422 79
300,000 *22] 600
OF==J| & Hitl Xtz 6,000
-8 SRz 25,0003 «12CH* 123 3,600
—Hiol Extz 25,0002 +8CH* 122 2,400
OAI g1ot - AS [§8 B8 242
110,000 x204 2% 123 2,640
OROIZHIANAE B Tt 242
165,000 x20H %123 3,960
Oo7zE g 100,000& 274 2+ 12] 200
O=gd & ZAE 45,0002 %122 540
OMEHed SHAE Nz
25,0002~ 12& 300
OUJIsEHA 2dUd ==
800,000& 22 1,600
OZADIA 1A=
200,000 204 A 400
OFYLe P4 U oEE| (3 8
275,000& 122 3,300
OsZ)| etd el e 89
160,000 *3CH* 12 5,760
OB2)| HHAN +42
150,000 *3H 450
OdEMESZZ Y 24| 1,290
—=g% 0|2 EZS M=AH|
300,000 *23] 600




2A:

HSAE2 0

M dEHE |54
Chel: HEHEHSAE2SE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—E28 g% 100,000& %52 500
—E82& iy 95,0002 <22 190
02 S3=gHl 459,300 521,100 261,800
OZAItA 23 12,600,000 «12& 151,200
o&IIe3 7,500,000 «12& 90,000
Odote=r & KXot 23
11,000,000& «12& 132,000
OclHdl SHRs 150,000& * 12 1,800
OagotME 3| 50,0002 *20H A 100
O&JINEZ otd & FX|2el
2,000,000& 123 24,000
OASANES SXBE BH 448
600,000 * 122 7,200
OANdE 272 #2l =d
8,760,000 * 14 8,760
OANld = 38l & sX2el 11,000
—2d= HEL 3,000,000& %12 3,000
— Nz Y3 FA4H
1,000,000 *23] 2,000
—RoE Y AR HAH
3,000,000& *22] 6,000
OA7TZ A4 B2 12,640
—ololAL eS| FAl2cl
300, 0003 *20CH 6,000
—EXJ| =7Al2 400,000 *32 1,200
—&01 - JIHAIE =2
220,000 22 440
—AAENNH 2 AH
100,000 *50CH 5,000
O+=3& =& 4,100
—AFRAIE RXI2 150,000 *42] 600
—=3& FAZc 2,000,000& %12 2,000
-0 |X2e
500,000& *32 1,500
O=g& JIAd HSH0 22 84
1,375,000 x 122 16,500
206 M=l 16,038 19,800 A3,762
01 M= HI 16,038 19,800 A3,762
O=gd a3 7 2,000,000& *22 4,000
O 858 ¢ 2,000,000& 22 4,000
ol 88 7Y 1,000,000 *32] 3,000
OXsEAI| 2H 7
400,000 *2K 800
OZ=0 &) 82 & et8)| 7Y
1,000,000& *12] 1,000




2A:

HSAE2 0

M dEHE |54
Chel: HEHEHSAE2SE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S EETECES
1,000,000& %12 1,000
OXZ+ s UM %E 2 LM 7Y
2,238,000& %12 2,238
401 AIEHIL 2L 30,000 10,000 20,000
01 Al 30,000 10,000 20,000
ONLH RBAALET SN U TAF U}
g &x 111, 110& »270m* 30,000
20=2UMSHE 24 69,780 77,720 AT,940
201 Ler23| 69,780 77,720 AT,940
01 At2teltl 912 1,200 A288
OR0IAHIAAY B
152,000 62 912
02 S3=gHl 68,868 76,520 AT,652
ool 23 2,160,000& x62 12,960
OEADIA = 2,160,000& x62 12,960
oNIIR3 6,165,000 62 36,990
OAIZ &t |XId| 1,191,6002 %53 5,958
HEBHFUH 24 288,460 283,460
201 fer= 3| 78,460 78,460
01 At 2|l 7,200 7,200
OR1AH AlAE 300,000& * 122 3,600
O2g 223 7Y 300,000 * 122 3,600
2 52434l 71,260 0 71,260
Odote= 2= 1,100,000& «12& 13,200
OXZAIA 23 1,300,0002 122 15,600
(OFSPIETE= 2,000,000 ~12& 24,000
Oagiotdze| e &9
500,000& 122 6,000
OdJlete el e 24
300,000 x 12 3,600
OsJerdae] e 9
500,000& * 122 6,000
OB2I| ¥E BN 248
260,000 *1CH*12] 260
OXM=x 243 89 300,000 *23] 600
OZE 28 4 2,000,000& %12 2,000
307 @120l & 200,000 200,000
05 eit?(& = 200,000 200,000
O SEMSHEH 22tes 22|
200,000,000& *14] 200,000
401 Al HIZL 201 10,000 10,000
01 Al&H| 10,000 10,000
OAm2 Ald= &l 10,000




2A:

HSAE2 0

M MEHs 54
Chel: HEHEHSAE2SE (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
—HIINEZE E3SA
5,000,0002*1JH 2 5,000
—A4SAE L J|HEH E SAt
3,000,000 *1JH 2 3,000
—gE U SHLY 24 ZA
2,000,000& *17H 2 2,000
HHSHHH (MSAIE29 1) 409,826 388,616 21,210
QI A| 283,487 252,863 35,624
oI AH| 288,487 252,863 35,624
101 2124l 288,487 252,863 35,624
01 2= 241,739 224,8%6 16,843
OAIZte 28R+
11,9502+ 16 *30Al 2H+ 123 68,832
OFgze=g 96,0593 15 120 172,907
02 JIEtA B 46,748 27,967 18,781
OAIIIZ224E
10,8212 +4H+30A1 2+ 128 15,583
Osgd22xy 86,568 *3F 120 31,165
Jl2&l 121,339 135,753 A14,414
Jl=2Z&| 121,339 135,753 A14,414
201 B2 AL| 87,619 103,713 A16,094
01 ArR222ltl 70,040 80,304 A10,264
Ogal(=a) =4 60,0002 * 12 *3652 21,900
OYRFL =4ld|
9,000 *11Z 52U+ 12& 5,940
O3Z2H=FAIA oHliE & EES MA
200,000& »33| 600
OYRFLIZS /e AREE 7Y
300,000& *53] 1,500
OAMR4 & stEa &30lst 5 +L
500,000 & *43] 2,000
OYRA, JIHA, AR &8 22
300,000& *13l 300
O=AD| Xtz 180,000+ 12& 2,160
O=AEX, EH & 4ABF 7Y
200,000& %53 1,000
Odl& o285+ 60,0002 *13] 60
O33HM=AIE HEHIIE Ml e Y
1,000,000& =123 12,000
O&=I| & 5l Xtz 3,480
—d=D| eX= 30,0003 «7CH*12& 2,520
—Hlo gxt= 20,000 »4CH+12& 960
OAlE 2 - A5 U 89
200,000& =123 2,400
Og&EUW=H| 50,0003 43| 200




2A:

HSAE2 0

M HAHPAZHI(MSAL2ED)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORIDIKIA A1) THeY ==&
330,000 *43] 1,320
OMSAEAMNEZ HEZM =8
1,840,0002 6 11,040
OR0IZH| AIAE 2
300,000 * 122 3,600
OXSxt EINBAL ===
30,0002 #23] 60
OJI=ktg &HEE S8 ME=
40,0003 * 122 480
2 S22l 17,579 23,409 25,830
OQIHY S4l 0188 361,83321+62 2,171
OBEXY REU L SHSY|
400,000 +5& 2,000
O2ESXHE ASIHAl 48,0002 *12] 48
Ot /| 60,0002 %12 60
OEADIAEIIBAR 300,000& %12 300
ONMsZusSmeRE=
5,000,000& *12] 5,000
OM=Z"3 & 4,000,000 22 8,000
202 04| 28,560 26,880 1,680
01 2K 28,560 26,880 1,680
OJ|22UEE|
140,000 x17E* 122 28,560
203 HR=&H] 5,160 5,160
M EA2HER=AH 5,160 5,160
ORNEgE =AY
430,000 12& 5,160




